- RX 23 A BE CO2 55 HI B =

HREBHOET(N) | LIRHIBARE (RO CO2HIiFE (t) Lo REIFEE (t)

4R 884035 1,060,842 44.444 9.548
5RH 886427 1,063,712 44,564 9.573
6A 878003 1,053,604 44141 9.482
7R 917821 1,101,385 46.143 9.912
8H 924528 1,109,434 46.480 9.985
9R 893588 1,072,306 44.924 9.651
108 896308 1,075,570 45.061 9.680
11R8 838763 1,006,516 42.168 9.059
128 927072 1,112,486 46.608 10.012
1A 802531 963,037 40.346 8.667
2R 800665 960,798 40.253 8.647
3R 850011 1,020,013 42.733 9.180

Hi 10,499,752 12,599,702 527.865 113.397

X LURHIBME = 3EEHODEET x 12 (LORF1ANY 1.2/ LiE)
¥ CO02 HIEE = L RHEIEMKE x 41.895 /1000000 (LoR1MA-YUDCO2HIHEZL 41.895g LHE)
X LURHIREE = LORHIFMAE x 9/1000000 (LOR1IMHB-UYDEESR 9g LBEH)




